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EFA and CFA

DATA kamoku(TYPE=CORR);
INPUT _TYPE_ $ NAME_ $ X1-X6;
LABEL X1=" " X2=" " X3=" "
X4=" " X5=" " X6="  ";
CARDS;
N . 250 250 250 250 250 250
CORR X1 1.000
CORR X2 0.412 1.000
CORR X3 0.521 0.495 1.000
CORR X4 0.538 0.499 0.525 1.000
CORR X5 0.334 0.293 0.364 0.607 1.000
CORR X6 0.346 0.248 0.323 0.517 0.506 1.000
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TITLE =*** n=2 ****; 6
PROC FACTOR DATA=kamoku METHOD=ml NFACTORS=2 PRIORS=smc
ROTATE=promax;

TITLE ¥ ki *kk" ;
PROC CALIS DATA=kamoku METHOD=ml ALL;
LINEQ
X1 =L11 F1 + E1,
X2 =L 21 F1 + E2,
X3 =1L31F1 + E3,
X4 = L 41 F1 L 42 F2 + E4,
X5 = L 52 F2 + E5,
X6 = L 62 F2 + E6;
STD
E1l - E6 = DEL1 - DELSG,
F1 - F2 =2*1.00;
cov

F1 F2 = PHI12;
RUN;




)

F1 F2 F1 F2
0.63 0.08 0.70 0
0.67 -0.02 0.65 0
0.73 0.01 0.73 0
0.39 0.54 0.41 0.52

-0.06 0.82 0 0.77
0.02 0.63 0 0.66

1 0.641 1 0.642

0.641 1 0.642 1

X 2- 3.724(4) 6.307(7)
0.4441 0.5044
-4.276 -7.693
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X1

X2

X3

X4

X5

X6

126.651

105.083

142.771

24.920

0.475

0.491

0.475
0.491

[L_11]

[L_21]

[L_31]

[L_41]

-0.109

0.093

0.644
.422

.238
.625

.108
.743

38.561

(oY) (o)) o

144781

106.690

0.093

-0.055

-0.039
[L_42]

[L_52]

[L_62]
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# 2: power (O & EE

power TH

2 & 5
FATFHEE | 0.50 064 070 0.73
Ara (.14 0.08 0.04 0.02
14

chi"2(df)=.448(1)

1B+ 88 100

WFRF

2FARERF

1HEAET

2%Z0BT

BFEMESE=503 AIC=18.448

58
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—5-point scale;. ------
[ ]
varname

83 83 83 83 83 83

1.00 0.48 0.20 0.78 0.43 0.18

0.48 1.00 0.21 0.49 0.81 0.25

0.20 0.21 1.00 0.22 0.22 0.89

0.78 0.49 0.22 1.00 0.41 0.24

0.43 0.81 0.22 0.41 1.00 0.21

0.18 0.25 0.89 0.24 0.21 1.00
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2IFBHT

1HAEF

2000

2HOBT

chi"2(df)=.661(1)

EEWEE=-416 AIC=18.661
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{0.87=0.89?
0.97=0.82? w7
0.87=0.89=0.97=0.82? . 8y | WABT
{8.87=O.89=O.97=0.82? 2k
23=0.20=006=031?| 7\ 4ons
Cov(el,e3)=07? ’
Cov(e2,e4)=0? 2AmE
chi"2(df)=661(1) HBEFEIE=416 AIC=18.661
18
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df 2 AlIC
default 1 0.661 0.416 18.661
Cov(el,e3)=0 al=a2, bl=h2 1.835 0.607 15.835
Cov(e2,e4)=0 al=a2=bl=h2 1.862 0.761 13.862
al=az=bl=b2 | ;' 5469  0.929  8.469
el=e2=e3=e4 ) ' )
-1 — — —
Cov(el,e3)=* al=a2, bl=h2 0.448 0.503 18.448
Cov(e2,e4)=* al=a2=bl=h2 0.489 0.783 16.489
alzaz=bl=b2 | 5 10910  0.962 11.010
el=e2=e3=e4 ) ' )
20

%99

2.0

chi"2(df)=15.101(16)
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DT

2l

BEMEFE=517 AIC=25.101
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F1 F2 F3
0.9 0 0
0.9 0 0
0 0.9 0
0 0.9 0
1 0 0 0.9
0 0 0.9
1.0 1
chi"2(df)=15.101(16) BHEMEFE=517 AIC=25.101
22
51 53
‘ e e R’
58 61
67 ST
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F1 | F2
XL 09 -01
X2 08 0.2
X3 0.8 0.01
X4 06 0.1
X5 01 0.70.80 0.43
X6 = -0.1  0.60.53 0.98
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e Ledermann
£(2p+1- 8p+1)/2
(p
pl|2[3]4]5 7 10]...
0[1]21]12]3]3 6.
26
=4
TRRET
20 F1 F2
SHKIRT
0.87 0
i 0.89 0
._.‘ 1BOET 8 82;
20T
chi"2(df)=.661(1) HEHREZE=-416 AIC=18.661 EFA

(-1)
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Xq=fy+ 1y +fg+e gxlg 91 1 000 1L)§f1@ éeru
Xy =f1+fy+ 13 +e gng gl. 1100 ngzg gezg
Xs=  fptfy+fy tey  8XgU_@ 1 1 1 0 Ofal, ey
X, = fatfatfs  +ey X4y © 0 1 1 1 Ofglay &
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— X
— EFA
— 0 X
- CFA
X1 X2 X3 X4 X5 X6
X1 1] .
X2 0.412 1] .
X3 0.521] 0.495 1]. .
X4 0.538] 0.499] 0.525 1]. .
X5 0.334] 0.293] 0.364| 0.607 1].
X6 0.346] 0.248] 0.323| 0.517] 0.506
36
( ) ( )
F1 F2 F1 F2
0.63 0.08 0.70 0
0.67 -0.02 0.65 0
0.73 0.01 0.73 0
0.39 0.54 0.41 0.52
-0.06 0.82 0 0.77
0.02 0.63 0 0.66
1 0.641 1 0.642
0.641 1 0.642 1
X 2- 3.724(4) 6.307(7)
0.4441 0.5044
-4.276 -7.693
2 power DL MR
power THE
2 ] | 3
E-FHM |05 064 070 0T
A= 04 ks ihd Dk
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[ ]
[ ]
r =0.45
* EFA
[ ]
( ) )
F1 F2 F1 F2
0.63 0.08 0.70 0
067 -0.02 0.65 0
0.73 0.01 0.73 0
0.39 0.54 0.41 0.52
-0.06 0.82 0 0.77
0.02 0.63 0 0.66
1] 0.641 1] 0.642 , N
0.641 1 0.642 1 =8 : .
X 2- 3.724(4) 6.307(7) , oo
0.4441 0.5044 :
-4.276 -7.693 -
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I-FAlFel ARG ALY

sRIs| = | o] £k ) FHee ElElE 5o
|

visperc cubes lozenges par agr ap sentence wordmean sex
1 33.00 z22.00 17.00 8.00 17.00 10.00 @I 1.00
2 a0.00 25.00 20.00 10.00 23.00 18.00 1.00
3 36.00 33.00 36.00 17.00 25.00 41.00 1.00
4 28.00 25.00 Q.00 10.00 18.00 11.00 1.00
5 a0.00 26.00 11.00 11.00 21.00 .00 1.00
6 20.00 25.00 6.00 9.00 21.00 16.00 1.00
i 17.00 21.00 6.00 5.00 10.00 10.00 1.00
8 3300 21.00 a0.00 11.00 23.00 18.00 1.00
[ ]

[SPSS far Windows I N HITERET TF.
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* MANOVA by SEM
ml=...=m6=0

(dF)=12.624(6)

(df)=0.0 (0)
=12.624(6)
= 0.049

2.107

0.056

« MANOVA by SPSS  F(6,138)
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-20

-228

180

Chi-square(df)=.000(0) P-value=¥p

159
147

I 28/
2h
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58

<-- -0.532 1.147 -0.464( 0.64|m1
<-- -0.204 0.738 -0.277{ 0.78|m?2
<-- -2.275 1.368 -1.663( 0.10|m3
<-- 1.283 0.550 2.332| 0.02|m4
<-- 0.912 0.768 1.187] 0.24[m5
<-- 1.472 1.314 1.120] 0.26m6

e Bonferroni

0.05/6=0.0083
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2851 1405 3190 279 687 19.69
}1 l ] ’
BEES | | mmEE || seEm || XEBER | | XE=RR E=G

RAERENET

8.8

chi-square(df)=3.638(8)
P-value=.888
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MANOVA by SEM (
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e ml=...=m6=0

(dF)=16.262(14)

(df)= 3.734( 8)

=12.528( 6)
= 0.051
62
4 AEMERO L
kR SEM SEM
(SPSS)  (Jtorbufsis : fafnes L) (GtolosiE : I
0.056 0.049 0.051
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Z150 #1580
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=180
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% 5. A EMEEREO
ek ik S g T
NS EEGRe \
ANOVA - MANOVA | BT FHOHR (K 16 - 1 15)
HENEEE S 0.242 0.189
SREEES] 0.126 0.072
2O0DOREFE~IT 0,049 0016
K+ D[Rl o34 ' '
[ ]
[ ]
66
[ ]
V(e

-V (el)=V(e2)=V(e3)

TeskeD ik o HOEE 7 AT
REF=13KET .
ANOVA - MANOVA | EF¥EHOHER (X 16 - X 15)
AR HE 0.242 0.189
SRERES 0.126 0.072
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kano@hus.osaka-u.ac.jp

http://kokol5.hus.osaka-u.ac.jp
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